=WENN(($C$2=Dezember!$E$7)*UND (Status!$C$3=Dezember!$F$7)*UND (Status!$C $4
=Dezemberl$G$7)*UND (Status!$Cé=Dezemberl$H$7);Dezember!$J$7;0)+WENN(($C$
2=Dezember!$E$8)*UND (Status!$C$3=Dezember!$F$8)*UND (Status!$C$4=Dezember!$
G$8)*UND(Status!$Cé=Dezember!$H$8);Dezember!$J$8;0)+WENN(($C$2=Dezember!
$ES?)*UND (Status!$C$3=Dezemberl$F$9)*UND (Status!$C$4=Dezember!$G$9)*UND (St
atus!$Cé=Dezemberl$H$?);Dezember!$J$9;0)+WENN(($C$2=Dezember!$E$10)*UND(S
tatus!$C$3=Dezember!$F$10)*UND (Status!$C$4=Dezember!$G$10)*UND(Status!$Cé=
Dezember!$H$10);Dezember!$J$10;0)+WENN(($C$2=Dezemberl$E$11)*UND (Status!$
C$3=Dezember!$F$11)*UND(Status!$C$4=Dezember!$G$11)*UND (Status!$Cé=Dezem
berl$H$11);Dezember!$J$11;0)+WENN(($C$2=Dezember!$E$13)*UND (Status!$C$3=De
zemberl$F$13)*UND (Status!$C$4=Dezember!$G$13)*UND (Status!$Cé=Dezember!$H$
13);Dezember!$J$13;0)+WENN(($C$2=Dezember!$E$14)*UND (Status!$C$3=Dezember
I$F$14)*UND (Status!$C$4=Dezemberl$G$14)*UND (Status!$Cé=Dezember!$H$14);Dez
ember!$J$14;0)+WENN(($C$2=Dezember!$E$15)*UND (Status!$C$3=Dezember!$F$15)
*UND (Status!$C$4=Dezember!$G$15)*UND (Status!$Cé=Dezemberl$H$15);Dezember!
$J$15,0)+WENN(($C$2=Dezember!$E$16)*UND (Status!$C$3=Dezember!$F$16)*UND (St
atus!$C$4=Dezember!$G$16)*UND (Status!$Cé=Dezember!$H$16);Dezember!$J$16;0)
+WENN(($C$2=Dezember!$E$17)*UND(Status!$C$3=Dezember!$F$17)*UND (Status!$C
$4=Dezember!$G$17)*UND(Status!$Cé=Dezember!$H$17);Dezember!$J$17;0)+WENN(
($C$2=Dezember!$E$19)*UND (Status!$C$3=Dezember!$F$19)*UND (Status!$C$4=Deze
mberl$G$19)*UND (Status!$Cé=Dezember!$H$19);Dezember!$J$19;0)+WENN(($C$2=D
ezemberl$E$20)*UND (Status!$C$3=Dezember!$F$20)*UND (Status!$C$4=Dezember!$G
$20)*UND (Status!$Cé=Dezember!$H$20);Dezember!$J$20;0)+WENN(($C$2=Dezember
I$E$21)*UND (Status!$C$3=Dezember!$F$21)*UND (Status!$C$4=Dezember!$G$21)*UN
D(Status!$Cé=Dezemberl$H$21);Dezember!$J$21;0)+WENN(($C$2=Dezember!$E$22)*
UND (Status!$C$3=Dezember!$F$22)*UND (Status!$C$4=Dezember!$G$22)*UND (Status!
$Cé=Dezember!$H$22);Dezember!$J$22;0)+WENN(($C$2=Dezember!$E$25)*UND (Sta
tusl$C$3=Dezember!$F$25)*UND (Status!$C$4=Dezember!$G$25)*UND (Status!$Cé=De
zember!$H$25);Dezember!$J$25;0)+WENN(($C$2=Dezember!$E$26)*UND (Status!$C$3
=Dezemberl$F$26)*UND (Status!$C$4=Dezember!$G$26)*UND (Status!$Cé=Dezember!
$H$26);Dezember!$)$26;0)+WENN(($C$2=Dezember!$E$27)*UND (Status!$C$3=Dezem
berl$F$27)*UND (Status!$C$4=Dezember!$G$27)*UND (Status!$Cé=Dezember!$H$27);D
ezember!$J$27;0)+WENN(($C$2=Dezember!$E$28)*UND (Status!$C$3=Dezember! $F$2
8)*UND (Status!$C$4=Dezember!$G$28)*UND (Status!$Cbé=Dezemberl$H$28);Dezembe
r'$J$28;0)+WENN(($C$2=Dezember!$E$29)*UND (Status!$C$3=Dezember!$F$29)*UND
Status!$C$4=Dezember!$G$29)*UND (Status!$Cé=Dezember!$H$29);Dezember!$J$29;
0)+WENN(($C$2=Dezember!$E$31)*UND(Status!$C$3=Dezember!$F$31)*UND(Status!$
C$4=Dezemberl$G$31)*UND(Status!$Cé=Dezemberl$H$31);Dezember!$J$31;0)+WEN
N(($C$2=Dezember!$E$32)*UND (Status!$C$3=Dezember!$F$32)*UND (Status!$C$4=De
zemberl$G$32)*UND (Status!$Cé=Dezember!$H$32);Dezember!$J$32;0) +WENN(($C$2
=Dezemberl$E$33)*UND (Status!$C$3=Dezember!$F$33)*UND (Status!$C$4=Dezember!
$G$33)*UND (Status!$Cé=Dezember!$H$33);Dezember! $J$33;0)+WENN(($C$2=Dezem
berl$E$34)*UND (Status!$C$3=Dezember!$F$34)*UND (Status!$C$4=Dezember!$G$34)*
UND(Status!$Cé=Dezember!$H$34);Dezember!$J$34;0)+WENN(($C$2=Dezember! $E$3
5)*UND (Status!$C$3=Dezember!$F$35)*UND (Status!$C$4=Dezember!$G$35)*UND (Sta
tusl$Cé=Dezemberl$H$35);Dezember!$J$35;0)+WENN(($C$2=Dezemberl$E$37)*UND



Status!$C$3=Dezember!$F$37)*UND (Status!$C$4=Dezember!$G$37)*UND (Status! $Cé=
Dezember!$H$37);Dezember!$J$37;0)+WENN(($C$2=Dezember!$E$38)*UND (Status!$
C$3=Dezember!$F$38)*UND (Status!$C$4=Dezember!$G$38)*UND (Status!$Cé=Dezem
berl$H$38);Dezember!$J$38;0)+WENN(($C$2=Dezember!$E$32)*UND (Status!$C$3=De
zember!$F$392)*UND (Status!$C$4=Dezember!$G$39)*UND (Status!$Cé=Dezember!$H$
39);Dezember!$J$39;0)+WENN(($C$2=Dezember!$E$40)*UND (Status!$C$3=Dezember
I$F$40)*UND (Status!$C$4=Dezember!$G$40)*UND (Status!$Cé=Dezember!$H$40);



